The School Board of Broward County, Florida Procurement & Warehousing Services Department

ITB No.:	16-063C	Tentative Board N		FEBRUARY 9, 20	16
	ASPHALT PAVING & RESURFACING, PLAY COURT REPAIRS AND RESURFACING AND STRIPING	Notified:	1503	Downloaded:	
1		ITB Rec'd:	(16)	No Bids:	0
For:	PHYSICAL PLANT OPERATIONS	ITB Opening:	NOVEMBER	10, 2015	
Fund:	(School/Department) CAPITAL FUNDS	Advertised Date:	OCTOBER 2	1, 2015	
who is adversel decision or intenotice of protes states that "The and days during be at the office 33351. Any per bond, payable to Failure to post to a waiver of the		test, in writing, within days after the date the edings under this chain which the protest in the computation of the 7720 West Oakland are School Board, at the equal to one percent ection N, within the terms.	n 72 hours after ne notice of protapter. Section 12 s based." Saturd 272-hour time per Park Boulevard, ne time of filing (1%) of the esti ime allowed for	est is filed. Failure to 10.57(3)(b), Florida S ays, Sundays, state h eriod provided. Filing Suite 323, Sunrise, the formal written pr mated value of the confiling a bond shall confil	otice of offile a tatutes, olidays gs shall Florida otest, a ontract.
(*) The Cone	of Silence, as stated in the ITB, is in effect until this bid is appropriately date. Confirm with the Purchasing Agent of record for the	oved by SBBC. The actual date the Co	e School Boar one of Silence	d meeting date stat has concluded.	ed
	RECOMMENDATION/TA	ABULATION			
VENDO	DR'S NAME		ITEM(S) AW	ARDED	
PENCE	E SEAL COATING CORPORATION	(GROUP B GROUP C	0.992 MULTIPLII 1.000 MULTIPLII 1.000 MULTIPLII (Pro-rated Base int)	ER
CONT	RACT TERM: FEBRUARY 10, 2016 THROUGH FEBRUARY	7 9, 2017			
By:	The Int	Da	te: 1 <u>-15-16</u>	,	

(Purchasing Agent)
The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.



AWARD A CONTRACT TO THE SUCCESSFUL BIDDER MEETING SPECIFICATIONS, TERMS AND CONDITIONS;

PENCE SEALCOATING CORPORATION

IN ORDER TO MEET THE NEEDS OF THE SCHOOL SYSTEM AND IN THE BEST INTEREST OF THE SCHOOL BOARD, THE ABOVE ITEMS ARE RECOMMENDED TO BE AWARDED TO THE BIDDER LISTED.

IT IS RECOMMENDED THAT THE CONTRACT PERIOD BE FOR (1) ONE YEAR.

Bid Title: Asphalt Playcourt Paving Repairs, Resurfacing Striping

Bid Opened: November 10, 2015

*	THE SCHOOL BOARD OF BROWARD COUNTY,	FLORIDA	L									
	BID TABULATION SHEET			PENCE SEALCOATING CORPORATION								
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	5% Pref. Unit Pref. Pr Price Extensi			% Pref. Pref. Price it Price Extension	 Bid Price Extension	5% Pref. Unit Price	Pref. Price Extension
	GROUP A ASHPALT PAVING AND REPAIRS				\$ -	\$ - \$	-	\$ - \$	- \$ -	\$ -	\$ -	\$ -
1	ASPHALT REPAIR PROJECTS UP TO 15 SQ YDS	3,000	SQ YD	\$ 55.00	\$ 165,000.00	\$ 57.750 \$ 173,2	50.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
2	ASPHALT REPAIR PROJECTS GREATER THAN 15 SQ	8,000	SQ YD	\$ 55.00	\$ 440,000.00	\$ 57.750 \$ 462,0	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
3	REMOVE ASPHALT	2,000	SQ YD	\$ 2.00	\$ 4,000.00	\$ 2.100 \$ 4,2	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
4	INSTALL AND PAINT RUMBLE BUMPS	2,500	LF	\$ 9.00	\$ 22,500.00	\$ 9.450 \$ 23,63	25.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
5	INSTALL AND PAINT SPEED HUMPS	1,750	SQ YD	\$ 20.00	\$ 35,000.00	\$ 21.000 \$ 36,79	50.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
	INSTALL CONCRETE VALVE OR CLEAN OUT BOX WITH											
6	METAL OR CONCRETE	20	EA	\$ 85.00	\$ 1,700.00	\$ 89.250 \$ 1,78	85.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
7	SWEEP/REMOVE DIRT IN PARKING LOTS	10,000	SQ YD	\$ 1.00	\$ 10,000.00	\$ 1.050 \$ 10,50	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
8	REMOVE CONCRETE CURB	250	LF	\$ 4.00	\$ 1,000.00	\$ 4.200 \$ 1,0	50.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
9	ASPHALT RESURFACING FOR PROJECTS - 125YDS	3,000	SQ YD	\$ 10.00	\$ 30,000.00	\$ 10.500 \$ 31,50	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
10	ASPHALT RESURFACING FOR PROJECTS-126-2500 SQYDS	8,000	SQ YD	\$ 15.00	\$ 120,000.00	\$ 15.750 \$ 126,0	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$
	ASPHALT RESURFACING FOR PROJECTS GRATER THAN											-
11	2501 SQ YDS	50,000	SQ YD	\$ 14.20	\$ 710,000.00	\$ 14.910 \$ 745,5	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
12	1-1/2" ASPHALT AND 4" OF LIME ROCK FOR JOB UP TO 125	3,000	SQ YD	\$ 20.00	\$ 60,000.00	\$ 21.000 \$ 63,0	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
13	1-1/2" ASPHALT AND 4" OF LIME ROCK GREATER THAN 125	1,000	SQ YD	\$ 30.00	\$ 30,000.00	\$ 31.500 \$ 31,50	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
14	1-1/2" ASPHALT AND 6" OF LIME ROCK FOR JOB UP TO 125	3,000	SQ YD	\$ 30.00	\$ 90,000.00	\$ 31.500 \$ 94,50	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
15	1-1/2" ASPHALT AND 6" OF LIME ROCK GREATER THAN 125	2,500	SQ YD	\$ 35.00	\$ 87,500.00	\$ 36.750 \$ 91,8	75.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
16	1-1/2" ASPHALT AND 8" OF LIME ROCK FOR JOB UP TO 125	1,000	SQ YD	\$ 30.00	\$ 30,000.00	\$ 31.500 \$ 31,50	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
17	1-1/2" ASPHALT AND 8" OF LIME ROCK GREATER THAN 125	1,000	SQ YD	\$ 38.00	\$ 38,000.00	\$ 39.900 \$ 39,9	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
18	TESTING COSTS (COMPACTION AND OTHER) AS REQUIRED	10	EA	\$ 90.00	\$ 900.00	\$ 94.500 \$ 94	45.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
19	SUPPLY & DELIVER ASPHALT MILLINGS	500	TON	\$ 32.00	\$ 16,000.00	\$ 33.600 \$ 16,8	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
20	COLOR COATING -PROJECTS UP TO 125	300	SQ YD	\$ 9.00	\$ 2,700.00	\$ 9.450 \$ 2,83	35.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
21	COLOR COATING-PROJECTS GREATER THAN 125	26,000	SQ YD	\$ 10.00	\$ 260,000.00	\$ 10.500 \$ 273,0	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
22	RESURFACE WITH FIBERGLASS MESH UP TO 500 SQ YDS	300	SQ YD	\$ 20.00	\$ 6,000.00	\$ 21.000 \$ 6,30	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
23	RESURFACE WITH FIBERGLASS MESH GREATER THAN 500	2,500	SQ YD	\$ 12.00	\$ 30,000.00	\$ 12.600 \$ 31,5	00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
24	PROVIDE AND INSTALL CONCRETE NEW WHEEL BUMPERS	450	EA	\$ 30.00	\$ 13,500.00	\$ 31.500 \$ 14,1	75.00	\$ - \$	- \$ -	\$ -	\$ -	\$
25	REMOVE CONCRETE WHEEL BUMPERS	450		\$ 2.50	\$ 1,125.00	\$ 2.625 \$ 1,18	81.25	\$ - \$	- \$ -	\$ -	\$ -	' \$\$
26	RELOCATE OR REINSTALL EXISTING CONCRETE WHEEL	400	EA	\$ 2.00	\$ 800.00	\$ 2.100 \$ 8	40.00	\$ - \$	- \$ -	\$ -	\$ -	· \$
27	REPLACE CONCRETE WHEEL BUMPERS	400	EA	\$ 120.00	\$ 48,000.00		00.00	\$ - \$	- \$ -	\$ -	\$ -	\$
28	PROVIDE AND INSTALL NEW CONCRETE WHEEL BUMPERS	450	EA	\$ 110.00	\$ 49,500.00	\$ 115.500 \$ 51,9	75.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
29	REMOVE CONCRETE WHEEL BUMPERS	450		\$ 2.00	\$ 900.00	*	45.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
30	RELOCATE OR REINSTALL EXISTING CONCRETE WHEEL	400		\$ 5.00	\$ 2,000.00		00.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
31	REPLACE CONCRETE WHEEL BUMPERS	400		\$ 40.00			00.00	\$ - \$	- \$ -	 Ψ	\$ -	\$ -
32	PROVIDE AND INSTALL PVC TRAFFIC DELINEATORS	200	EA	\$ 100.00	+ -,		00.00	\$ - \$	- \$ -	7	\$ -	\$ -
33	REMOVE PVC TRAFFIC DELINEATORS	200		*	\$ 200.00	*	10.00	\$ - \$	- \$ -	 Ψ	\$ -	\$ -
34	REMOVE TRAFFICE POST AND SIGN	50		\$ 10.00			25.00	\$ - \$	- \$ -	Ψ	\$ -	\$ -
35	REPLACE SIGN POST ONLY	50		\$ 100.00	Ŧ -,		50.00	\$ - \$	- \$ -	Ψ	\$ -	\$ -
36	REPLACE TRAFFIC POST AND SIGN	50	EA	\$ 260.00	¥,	T	50.00	\$ - \$	- \$ -	 Ψ	\$ -	\$ -
	PROVIDE AND INSTALL NEW TRAFFIC SIGN & NEW POST	50	EA	\$ 130.00			25.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -
38	PROVIDE AND INSTALL NEW TRAFFICE SIGN ONLY	50		\$ 130.00	* -,		25.00	\$ - \$	- \$ -	 Ψ	\$ -	\$ -
39	REPLACE TRAFFIC SIGN ONLY	50		\$ 200.00	* -,	·	00.00	\$ - \$	- \$ -	Ψ	\$ -	\$ -
	PROVIDE "AS BUILT" DRAWINGS FOR PROJECT	5		\$ 1,000.00	\$ 5,000.00		50.00	\$ -		7	\$ -	\$ -
	PAINT STENCILS ONTO PAVEMENT	100		\$ 30.00	\$ 3,000.00	, , , , , , , , , , , , , , , , , , , ,	50.00	\$ - \$	- \$ -	 T	\$ -	\$ -
	REPAINT STENCILS ONTO PAVEMENT	100		\$ 30.00	\$ 3,000.00	·	50.00	\$ - \$	- \$ -	Ψ	\$ -	\$ -
43	PAINT 2" LINES	10,000		\$ 0.02	\$ 200.00		10.00	\$ - \$	- \$ -	7	\$ -	\$ -
44	REPAINT 2" LINES	10,000		•	\$ 200.00	7	10.00	\$ - \$	- \$ -	 7	\$ -	\$ -
45	PAINT 4" LINES	10,000	LF	\$ 0.10	\$ 1,000.00	\$ 0.105 \$ 1,0	50.00	\$ - \$	- \$ -	\$ -	\$ -	\$ -

Bid No. 16-063C Buyer/Purchasing Agent: Ian Superville Bid Title: Asphalt Playcourt Paving Repairs, Resurfacing Striping

Bid Opened: November 10, 2015

46 REPAINT 4" LINES	500,000 LF \$	0.02 \$ 10,000.00 \$	0.021 \$ 10,500.00	\$ -	\$ - \$ -	\$ - \$ - \$ -